












































4) The cost of one book is¥ 47. Sonu buys 23 books.
a) How much money does she have?

b) How much money does she pay for the books?

c) Whatis the cost of 47 books?

Papa, each of us will
get 2456 ~ 4 =X 624.

When Harisharan started giving ¥ 624 to each son, he
was left with less money for the youngest one.

made some mistake

in the calculations. He got=%2,496.
Let me check.

Hum! This shows you have
done the division wrong.

Rationalised 2023-24

Harisharan wanted to divide ¥ 2,456 amongst
his 4 sons. He asked his eldest son to tell him %%

Cross Check for Harisharan Qﬂa

It seems you have  y, isharan multiplied 624 with 4. o




Practice Time

a) 438 + 9

=255\ N

b) 3480 + 12

d) 900 *
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1) Do these divisions. Check your results by

235 \Qta\:,-': oo \Qla\-‘:': -9 \Qla\-’:': - P \Q’a\

2) Solve the given sums and colour the answers in the grid given
below. See what you find.

93 x2 17x5 10x 10

50x% 10 AN X 11 59 x7
3200+40 19x3 248 +8

825+ 5 221+18 “576+12

847 +7 9&€1 33 475+ 19

545| 110|434 | 642| 709 623 919 | 341

984 | 16| 561 | 608 236/ 413|529 | 62| 259 | 905
709 | 907 367 | 632| 336| 121|492 | 178| 431| 25
166 | 806| 584 | 186| 100 589 72| 717|248 676
624 | 82105 | 24| 165 17| 85| 770 327|500
247 | 997|485 2688 81| 80| 48| 901|126 121
742 | 427 756 | 531 792550 347 1001|314 | 57
945 |1000| 687 | 8541200 31| 124 | 3126/ 918 | 53
109 | 799 845 |1999| 864| 955| 123 |1234| 678 | 56
549 | 459|614 |1864| 834| 559 900 1111|268 171
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